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@ 10 += 0.05 = 40 - 0.5 =
@ 42 + 0.6 = @ 16 + 0.2 =
@ I5 + 03 = 12 = 0.03 =
@ 36 + 0.6 = 18 + 0.6 =
® 72 + 0.09 = @ 18 + 0.3 =
® 4 + 0.2 = @) 63 + 0.07 =
@ 14 = 0.7 = @ 54 + 0.09 =
45 + 0.05 = @ 12 + 04 =
@ 8 =+ 04 = e 32 + 0.04 =
35 + 0.7 = ® 72 + 0.08 =
@ 24 + 0.06 = W 24 + 04 =
@ 16 + 0.04 = 2 63 + 0.09 =
® 15 + 0.05 = 8 + 0.02 =
@ 48 =+ 0.08 = @ 30 + 0.06 =
® 48 = 0.6 = 56 - 0.7 =
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B OROHYEZLZLL,

® 10 + 0.05 =| 200 40 + 0.5 = 80
@ 42 = 0.6 = 70 @ 16 + 02 = 80
@ 15 + 03 = 50 12 + 0.03 =| 400
@ 36 + 0.6 = 60 18 + 0.6 = 30
® 72 + 0.09 =| 800 @ 18 + 03 = 60
® 4 + 02 =| 20 @ 63 + 0.07 = 900
@ 14 + 07 = 20 @ 54 + 0.09 = 600
45 <+ 0.05 = 900 @ 12 + 04 = 30
@ 8 + 0.4 = 20 @ 32 + 0.04 =| 800
35 + 0.7 = 50 ® 72 = 0.08 = q00
@ 24 + 0.06 = 400 ®@ 24 + 04 =| 60
@ 16 = 0.04 = 400 2 63 = 0.09 = 700
@ I5 + 0.05 = 300 8 + 0.02 =| 400
® 48 + 0.08 = 600 @ 30 + 0.06 = 500
® 48 + 0.6 = 80 56 + 0.7 = 80




